3rd Israel Open Solving Championship

5June 2016
CATEGORY 1 - ROUND 2 - SOLUTIONS

7 Lev I. Loshinsky, 1st HM Club d Echecs Frankenthal 1957
1.8f1?7H2e211.4d37Hxd4!11.49872d5!1.8d57 %e2!
5 &4 1.8e6 ! (5 points) [2.E2c4#]
1..Bxd4 2.%b1# 1...Bxe6 2. %b1#
F ! W W 1..%e2 2.%c5# 1...d5 2. 8#
A®E AR 1...dxe6 2.506#
o X i
#2 (8+7)
8 Marek Kwiatkowski, 3rd HM Springaren 1992
i A 1.%g6 ! [2.84xc5 (0.75 point)~ 3.8d4# 2... Axf5 3.%xf5#]
L i 1...Bxc4 2.5f4 (0.75 point) [3.£d3#] 2...Axf5/Hxed/Bd4 3.&xf5/ Hb~/Hxd4#
AAA & 1...Bxb5 2.4b4 (0.75 point) [3.4xc3#] 2...4xf5/HExbd/Exb6+ 3.%xf5/Hxbd/Hxb6#
p=toal - gl2ay. < -} 1...E1xc6 2.4 (0.75 point) [3.0xf3,HXC6#] 2... AxF5/EXb6+/Ec7+ 3.4xF5/HXb6/HXCT#
ALA 1...Bxd5 2.&xg8 (0.75 point) [3.%xd5,%e6# 2...5xe3/Exd6 3.%g3/Hxd6#
2 A A4 2| 1.e62He8(0.75 point) [3.Exe6#] 2...Axf5/8e7/HeT 3.4xf5/%xe6/ xf6H
1...exd6 2.2e8+ (0.25 point) Le7/5e7 3.4/xd6, Ye6/ Lxf6#
AW | 1.5h628xf6+ (0,25 pointlexf6 3.5e8#
#3 (14+9)
9 Valentin F. Rudenko, 1st HM Probleemblad 1974
2
i 1.8.a7![2.a5~ 3.£d3+ Ded 4.5ac5+ d4 5.0a4+ (1 point) ed 6.,0¢3#
&\ 2200 1 1...Axf4 2.0d7+ Ded 3.0xf6+ exfé 4.0c5+ ©d4 5.40d7+ (1.5 points) &e4d 6. xf6#
&) & 1..Bxf4 2.2b7+ &ed 3.0ac5+ 2d4 4.5d6 [5.£¢~ #] 4...exd6 5.2b7+ (1.5 points) @ed 6..0xd6#
A & é 1..5d3 2.5xd3+ @ed 3.5Hac5+ 2d4 4.a5 ~ 5.5Ha4+ (1 point) @ed 6.5¢3#
A i
A 2AiR
A K W
#6 (10+12)
10 L. Kubbel, Shakhmaty 1955 (Mirror)
y
@ 1. ¥a7+ &d8 (1..2c8 2.8a5) 2. %7 (1 point) b4 (2...%c8 3.4.a5) 3. Axf4 (1 point) (3.4xb4 ¥g5)
i 4 W 3.%h8 4.0.95+ &c8 5.46 (1 point) ¥h6 6.%g8+ &d7 (6...&c7 7.495) 7.4.95 (1 point) ¥e6
F 4|  8.%d8# (1 point)
i
2
@
+ (3+7)
11 cennady Kozyura, Mistetski shakhi 2000
¥
A 24 1.93 ¢4 2.%9g4 cxb5 3.&xb5+ &d4 4.¥h5 Hed 5895 f3 # (2.5 points)
) 4F Y & 1.8d7 c3 2.%e6 cxb4 3.&xb4 f4 4.%e7 ®ed 5.4d6 f5# (2.5 points)
WA d 4
£i Y a
A A
H#5  2sol. (3+16)
12 Walther Jorgensen, dedicated to J. Oudot, feenschach 1971 (v)
W
¥ IS 1.50e6 ! [2.5f5+ &3 3.Exd3+ (1 point) £Hxd3#]
AY 1. %a7 2.5¢5 [3.BExd3+ Hixd3#] 2...%xc5 3.%xed+ (1.5 points) &xed#
w9 1..%d8 2.50d4 [3.2¢c2+ Hxc2#] 2...%xd4 3.%f4+ (1.5 points) Sxfa#
ALCAL A AGY 1.9g325h3~3.Exg3+ (1 point) Hf3#
ing i®
A Ad AE
2EA Lo
S#3 (11+13)




